
Délka míchy 

dospělého se 

pohybuje mezi 

….–…. cm. 

 

1 



Mícha kraniálně 

navazuje na …..…. 

………. 

 

2 



Kaudální okraj 

míchy dosahuje 

do výšky 

obratlových těl 

…–… 

 

3 



Svazky nervů 

odstupující z 

kaudálního konce 

míchy 

připomínající ohon 

se nazývají …..  

…… 

 

4 



Kolik párů 

míšních nervů 

odstupuje z krční 

části míchy? 

 

5 



Jak se nazývá 

kraniální 

ztluštění míchy? 

 

6 



Šedá hmota míšní 

má 

tvar…….(zvíře). 

 

7 



Jak se nazývá 

periost páteřního 

kanálu? 

 

8 



Arachnoidea je 

tenká blána, 

která neobsahuje 

………. 

 

9 



Cavitas 

subarachnoidealis 

je vyplněna  

……………  ….. 

 

10 



• 1) 40–50 

• 2) prodlouženou míchu 

• 3) L1-L2 

• 4) cauda equina 

• 5) 8 

• 6) intumescentia cervicalis 

• 7) motýla 

• 8) endorhachis 

• 9) cévy 

• 10) mozkomíšním mokem 


